Name Period Homework Date QQC] O(’;" 91 6 = Ct{_z

Homework Grading Sheet @m

Fill in the information above the dotted line completely and accurately. Not completing this

form and/or not grading papers correctly/honestly will result in a maximum grade of 50. ***/f
less than 50% of an assignment is completed, the grade will be calculated as the number of
questions correct/total number of questions (l.e. 1/20 = 5%).

1) Homework Completion: Number of problems not done

2) Homework Accuracy: Number of X’s (problems missed out of those completed)

3) 1do not have my homework to turn in because

(Teacher use Only)

Completion Points Accuracy Points (for completion
of 50% or more)

5 pts: 100% completion 5 pts: 100% accuracy

4.5 pts: 90 — 99% completion 4.5 pts: 90 — 99% accuracy

4 pts: 80 — 89% completion 4 pts: 80 — 89% accuracy

3 pts: 70 — 79% completion 3 pts: 70 — 79% accuracy

2 pts: 60 —69% completion 2 pts: 60 — 69% accuracy

1 pt: 50-59% completion 1 pt: 59% and below accuracy

0 pts: Less than 50% completed 0 pts: No problems correct
Points earned/10 points = /10pts =

Final Homework Grade






Unit: Infeger Operations
Homework 1

Name

Date

AddiNg iNteGeRS WitH MOdelS

Write an equation to represent the value of the model.

@00
@O0

(YYYX])®

3.@
(X X X JOIOIN

O
@

000
@O0

4. 5
_ —
< —
——t———————t— ————
5 -4 3 -2 - 0 1 2 3 4 5 5 -4 -3 -2 - ] 1 2 3 4 5
Unit: Integer Operations e
Homework 2 Date Pd
SUBRACHNY iNtedeRS Wit ModelS
Model the following equations using counters or number lines.
1. 2. 3,
-6 —(-4) = 7 - (-3) = 3-(-2) =
4 S
4 - 10 = —5—(—6):
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Unit: Infeger Operalions
Homework 3

Name
Date Pd

AddiND ANd SUBIRACHNG iNtedeRS

Solve each of the problems in the hashtags below. For a challenge, find the sum of each

hashtag.
g+Qq= | 6+7= | 2+I0=
0+(-6)=| N+ (-3)=| -1+5=
R+ =] -1+8= |-4+ (4=
SuM:
o+6= | 2+(Q=| -5-9=
9-2=| 6-ll= |4+(-I3)=
T+(N=| 4-15= |-2-(m=
SUM:

0-5= | -6-9= | -I-12=

Q-1R= |-2-(T)=]| I-(-2)=

5-(5)=| 4-12= | 5-8=
SuM:

5-5= | 2-12= | -2+-9=

T+10= | 12-(-5)= |8+ (19)=

6-0= |-4—(2)=]-2- (=
SuM
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